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(2019 Spring Semester Additional Fee or Refund Money about the Change of Meal Plan)

tHE T (Now) 38 1527tx|2] HZ F(After Changing)
(AFE A"sh A4 81 Fo He S 3 A (3E 16Y 0|7 HHAHSIAX} St= A= QW FA)
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HHAF o) A2l = s IR e s
Mow | ynie | % | a4 =T MBS | (Changing | unit | 27 | ABEET R (&3 %7} el
Meal cost) (Days) (Tickets) (Paid Fee) (3.04~3.15) Meal Plan) | cost) (Days) (Tickets) (Changing Fee) = s %)
Plan) (Deducted Fee) (Additional or Refund Fee)
H| A AxC Gxl *Z7H(Add): K-E
HpEH (E | AxBxC T1xAxH (& R GxHx] (+ lefﬂlollﬁ H 2)
AEAoIM | (ol R2lolAl B) At of A “2HE Refund): E-F-K
(How to Calculat) gr2al) ) (Yo|Rt2|0f| A EI2 )
4,000 94 - - 0.5 3,800 83 421 # 157,700 | # 157,700
o] A= Xt 4,000 94 - 1 3,500 83 83| # 290,500 | # 290,500
(New) 4,000 94 - - 1.5 3,200 83 125 # 398,400 | # 398,400
4,000 94 - 2 3,000 83 166] # 498,000 | # 498,000
=7} 0.5 3,800 94 47 | # 178,600 1 3,500 94 47] # 329,000 | # 150,400
(Add) 0.5 3,800 94 47 | ¥ 178,600 1.5 3,200 94 94] ¥ 451,200 | # 272,600
0.5 3,800 94 47 | # 178,600 2 3,000 94 141] # 564,000 | # 385,400
1 3,500 94 94 | # 329,000 1.5 3,200 94 471 # 451,200 | # 122,200
1 3,500 94 94 | ¥ 329,000 3,000 94 94| # 564,000 | # 235,000
1.5 3,200 94 141 | # 451,200 3,000 94 471 # 564,000 | ¥ 112,800
Xt ZHof 3~ (Refund Tickets)
D-(11xA)-(GxI) 22| Kt2| oA tHzl
0.5 3,800 94 47 | ¥ 178,600 | # 22,000 0 4,000 83 41| # -l ¥ 156,600
1 3,500 94 94 | ¥ 329,000 | # 44,000 0 4,000 83 83 # -l # 285,000
1 3,500 94 94 | # 329,000 | ¥ 41,800 0.5 3,800 83 41 | # 157,700 | # 129,500
2 1.5 3,200 94 141 | ¥ 451,200 | # 66,000 0 4,000 83 124 W 385,200
(Refund) 1.5 3,200 94 141 | # 451,200 | # 62,700 0.5 3,800 83 83| # 157,700 | # 230,800
1.5 3,200 94 141 | # 451,200 | # 57,750 1 3,500 83 41| # 290,500 | # 102,950
2 3,000 94 188 | # 564,000 | # 88,000 0 4,000 83 166 S i 476,000
2 3,000 94 188 | # 564,000 | # 83,600 0.5 3,800 83 124 157,700 | # 322,700
2 3,000 94 188 | # 564,000 | # 77,000 1 3,500 83 83| # 290,500 | # 196,500
2 3,000 94 188 | # 564,000 | # 70,400 1.5 3,200 83 41| # 398,400 | # 95,200
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